Analytic Geometry Support

Review - Triangle Congruence

Name

Write a statement that indicates that the triangles in each pair are congruent.
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A) AMLN =AIHJ B) AMNL = AIUH
C) ALMN =AHJI D) ANML = AHJI
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z
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A) AXYZ = AEGF
B) AYXZ = AGEF
C) AXYZ = AGFE
D) AZYX = AEGF

Complete each congruence statement by naming the corresponding angle or side.

3) ARPQ = ARGF

F

G
R
0 P
/P=?
A) /F B) 4G
C) £FRG D) FR

5) AXYZ =AQPR

X\\/Y /R\
z P Q

ZX=7
A) 20 B) OP
C) ZR D) «P

4) AVWX =AQRS

/W\ S\/Q
1% X R

VW =?
A) OR B) 2R
C) SO D) RS



6)

AGIH =AGED

HG =?
A) £DGE
C) DG

Solve for x.

7

x+45

50°

A) 5 B) -5
C) 4 D) 11

A) 8 B) 6

C) -10

B) ED
D) GE

D) -7

8)

Ll
A) S
C) -8

10)

A) 9
C) 11

25°

B) -12
D) 7

135°

x+27

B) -7
D) 7

State if the two triangles are congruent. If they are, state how you know.

11)

A) ASA
C) SAS

B) SSS
D) AAS



12)
A) AAS B) SSS
C) SAS D) ASA

14)
A) ASA B) Not congruent
C) AAS D) SSS

16)
A) ASA B) SAS
C) Not congruent D) AAS

Find the measure of each angle indicated.

A) 28° B) 115°
C) 25° D) 24°

13)

L

A) SAS B) SSS
C) Not congruent D) HL
15)

A) SAS B) Not congruent
C) HL D) ASA
18) R P C_
46° 128°
?
Q
A) 97° B) 62°
C) 52° D) 82°

3-



19)

U
A) 45° B) 47°
C) 101° D) 40°
Solve for x.
20) P
6x+4
<Jax-6 54°
W D F
A)9 B) 8
C) 6 D) 4

Find the measure of angle b.

22)
A) 30° B) 69°
0) 111° D) 74°

Find the value of x.

24)
76°
(1Mx-1)°
A) 3 B) 9
C) 8 D) 7

21)

R P M
100° 17x-8
6x—9

o
A) 6 B) 13
C) 2 D) 9
23)
b
a0
A) 26° B) 163°
C) 64° D) 116°
25)
(5x + 4)°
79°
A) 19 B) 5
O) 15 D) 18



1) C
5) A
9) A
13) C
17) C
21) D
25) C

Answers to Review - Triangle Congruence

2) C
6) C
10) B
14) A
18) D
22) A

3) B
7) B

1) D
15) D
19) B
23) C

4) A
8) A
12) A
16) B
20) B
24) D



